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Pune Jilha G i
Jilha Ganit Adhyapak Mandal, Brihanmumbai Ganit Adhyapak Mandal and
Ganit Adhyayan Adhyapan Vikasan Sanstha, Nashik

GANIT PRABHUTWA EXAMINATION

Date : 08-12-2019 Std - VIII Total Marks : 100
Time : 12 noon to 3 pm

N.B. For Q. No. 2 to § proper procedure and explanation is necessary.

Q. 1. A) Choose the correct alternative and write it against the sub question 10

number.

1) If20, 10, x are in continued proportion then X = .........

A) 10 B) 20 C)5 D) 25
2) 7294 x 299 - 199 x 7294 = ..........
A) 72940 B) 7294000 C) 7294 D) 729400

3) Find the compound interest on Rs. 8000 at the rate of 10 p.c.p.a. for
2 years.
A) 168 B) 9680 C) 1680 D) 8168

4) If length of side of a square is 4 cm, then the length of its diagonal is
A) 242 cm B) 44/2 cm C) 8 cm D) 16 cm

5) Find the percentage of profit if the selling price of 12 articles is equal to

the cost price of 15 articles.

A) 20% B) 10% C) 25% D) 33%
6) 0.3333 ....... = eesennnne
3 33 1 3333
2 22 Q) - 203
A) 10 B) 10 ) 3 ) 10000
7) Find the ratio of 2.5 liters to 10 mililiters = ...........
A)25:1 B)1:25 C)5:2 D)250:1
8) Find the number of diagonals of a polygon of 8 sides.
A) 16 B) 24 C) 20 D) 40
V72 .
9) The least form of —= 1Is .......
) V58
6

6 I 36 6
—x~2 B) — C) — D) -
A) 332 ) )2 =

I = M\

Scanned with CamScanner



10) If 80% of a number = 72% of 500, find the number.
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A) 450 B) 576 ') 400 1)) 360

Write only the answer of each of the following sub-question.

The average of five numbers is 10. If each number is divided by 2 and
then S is added to each quotient, what is the average of the new

numbers?

A does a piece of work in 10 days and B does the same work in 15 days,
If they work together in how many days they can [inish the same work?

V59049 =243 then v/590.49 x ll(i -7
If (a+b)=6andab= 10 find a* + b*
Simplify V45 x Vi6x

Solve the following sub-questions.
Factorize : 2x? - xy - 10y?

Divide : (x* - x* + 5) + (x - 1), write the quotient and the remainder.

Bhajansing bought 80 bicycles at Rs. 1200 each. Transport and other
expenses were Rs. 4000. At what price should he sell each bicycle to get
25% profit?

Solve : x+5_1-2x =4
3 7

Point Q is the midpoint of seg PR. Point M which is not on seg PR, is
equidistant from points P and Q. IfMQ = QR, find m£ZPMR.

Solve the following sub-questions.

. ]
Ifa2—3a+ 1 =0 then find the value of a* + =
%

The difference between the compound interest and the simple interest for
two vears on a certain principal is Rs. 25. Find the principal if the rate of

interest is 5 p.c.p.a.

A sum of Rs. 640 was distributed among three persons A, B, C. If B got
Rs. 70 more than A and C got Rs. 80 more than B, then find the amount
B got.

In AABC. medians BE and CF have lengths 9 ¢m and 12 cm
respectively. Also, the medians are perpendicular to each other. Find the

area of AABC.
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In the adjacent figure, O is the centre of
the circle and radius OB = 8. The area of
shaded region is 56 n. mZOBA = 90°.
Find length of OA.

Solve the following sub-questions. 20

Solve (%)2x+% = (%)5

The distance between two cities A and B is 135 km. Ahamad starts from
A with a speed of 12 km/hr at 9.30 a.m. towards B. After two and half
hours Husain starts from B towards A with a speed of 18 km/hr. Find at
what O’clock and how far from B they will meet each other.

The average of 3 numbers is 35. The first two of them are in the ratio
2 : 3. The second and the third are in the ratio 4 : 5. What is the average
of first two numbers.

x5 - 5x4 + 6x3

3x3 —12x
In a two digit number, digit in the unit’s place is less than the digit in the

ten’s place by 6. If the number is divided by the sum of its digits, the
quotient is 7 and the remainder is equal to the digit in the ten’s place.

Simplify :

Find the number.

Solve the following sub-questions. 25

In a circle with centre O and radius 10 cm, chord
PQ || chord XY. Both chords are on the same
side of the centre of the circle. If (PQ) =16 cm, Q

J(XY) = 12 cm, ON 1 XY. Find the distance 7
between the chords PQ and XY.
In the adjoining figure

¢CD) 3 C
{(AB) 5

If (ED)=4.2cm find (BE) =

Construct [JKLMN, such that IXKL) = 3.6
JKM) =5 cm, (LM) =4 cm, mzK = 90°.

D E
cm, I(KN) = 4.5 cm,
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4) The G.C.D. of two numbers is one third of one of the two numbers and
L.CM. is fifteen times their G.C.D. If the product of the G.C.D. and
L.C.M. is 8640, find the numbers.

5) In the adjacent figure, the length of seg AB is 28. Point P is on the
seg AB. semi-circles are drawn with centres C, D and diame;crs AP, PB

respectively. Find the perimeter of the figure formed. ( n= —,/—J

N
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